REDROCK

HOOD LOCKKIT

(2007-2018 WRANGLER JK)

INSTALLATION INSTRUCTIONS

CONTENTS

(2) Hood Locks

(2) Hood Catches

(4) Keys

(4) Rubber Isolators

(4) M8x1.25x20mm Allen Screws
(4) M8 Flat Washers

(4) M8 Lock Nuts

(2) M10 Lock Nuts

(2) M10 Flat Washers

TOOLS REQUIRED

10mm, 13mm Sockets

Ratchet
Allen Wrench

SKU # J132200



REDROCK

STEP1

Open the vehicle hood. Remove (1) 13mm nut from the inside of the fender to remove the original
hood latch assembly from the vehicle.

STEP 2

Locate and remove (2) 10mm nuts from the upper hood catch.



REDROCK

Fender

STEP 3

Install the locking latch to the fender using the supplied 13mm lock nut. Install the rubber isola-
tor between the latch and fender.

Install the hood latch using the supplied 10mm nuts. Install the rubber isolator between the latch
and the hood.

STEP 4

Repeat steps 1-3 to the opposite side of the vehicle.

Installation is now complete.



	J132200 - RedRock - Hood Catch Kit; Locking (07-18 JK)-01
	J132200 - RedRock - Hood Catch Kit; Locking (07-18 JK)-02
	J132200 - RedRock - Hood Catch Kit; Locking (07-18 JK)-03

